Factor:								Factor:
[image: x squared  minus 4 x minus 21]	               	[image: 24 x cubed  plus 36 x squared ]

[image: left parenthesis 9 x squared  plus 1 right parenthesis left parenthesis 3 x plus 1 right parenthesis left parenthesis 3 x minus 1 right parenthesis]                            [image: left parenthesis x minus 7 right parenthesis left parenthesis x plus 3 right parenthesis]

Factor: 								Factor: 
[image: 6 x squared  minus 17 x plus 12]				[image: x squared  minus 10 x minus 24]

[image: 12 x squared  left parenthesis 2 x plus 3 right parenthesis]					  [image: 8 left parenthesis x plus 2 right parenthesis left parenthesis x minus 2 right parenthesis]
Factor: 								Factor:
[image: 12 x squared  plus 13 x minus 4]				[image: 8 x squared  minus 32]

[image: l equals left parenthesis x minus 7 right parenthesis \  \  w equals left parenthesis x minus 5 right parenthesis]			[image: left parenthesis 2 x minus 3 right parenthesis left parenthesis 3 x minus 4 right parenthesis]

The area of a rectangle is			The area of a rectangle is
[image: x squared  minus 12 x plus 35]. What are the 			[image: 4 x squared  plus 4 x minus 15]. What is the
dimensions of the rectangle.			perimeter of the rectangle?

[image: left parenthesis x minus 12 right parenthesis left parenthesis x plus 2 right parenthesis]						[image: 6 A squared  left parenthesis 3 A plus 1 right parenthesis left parenthesis A minus 2 right parenthesis]		
Factor Completely:			Factor Completely:
[image: 81 x super 4  minus 1]								[image: 18 A super 4  minus 30 A cubed  minus 12 A squared ]

[image: left parenthesis 7 x minus 3 right parenthesis left parenthesis 3 x plus 1 right parenthesis]				[image: left parenthesis 4 x minus 1 right parenthesis left parenthesis 3 x plus 4 right parenthesis]
[bookmark: _GoBack]The volume of a rectangular			Factor:
prism is [image: 30 x cubed  minus 12 x squared  minus 18 x]. What			
are the dimensions of the				[image: 21 x squared  minus 2 x minus 3]
rectangular prism?

[image: 8 x minus 4]							     [image: 6 x left parenthesis 5 x plus 3 right parenthesis left parenthesis x minus 1 right parenthesis]
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